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Estimating Multiplication w/Decimals Name:
Usethe decimal placement to estimate the product. Answers
1) 53x0.548=
A. 29.0440 B. 0.2004 C. 2.9044 . 290.4400 1
2,
2) 9.67x0.391=
A. 378.09700 B. 0.37810 C. 3.78097 . 0.03781 3
3) 6.436x7.95= 4,
A. 051166 B. 5.11662 C. 511.66200 . 51.16620
5.
4) 513x9.7=
A. 497.610 B. 49.761 C. 0.498 . 4.976 6
7.
5) 8.3x 0.516 =
A. 0.0428 B. 4.2828 C. 0.4283 . 42.8280 8.
6) 6.57x7.4= 9.
A. 4.862 B. 486.180 C. 0.486 . 48.618
10.
7) 1.8x0.45=
A.0.008 B. 8.100 C. 0,810 .0.081 t
12.
8) 8.726x1.2=
A.1,047.1200 B. 0.1047 C. 10.4712 .104.7120
9) 0546 x 3.6=
A. 1.9656 B. 0.1966 C. 0.0197 . 19.6560
10) 2.946x 9.5=
A. 279.8700 B. 2,798.7000 C.0.2799 . 27.9870
11) 2.461 % 0.79 =
A. 19.44190 B. 0.01944 C. 1.94419 . 194.41900
12) 1.4x991=
A. 1,387.400 B. 13.874 C. 138.740 .0.139
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




JL_

Estimating Multiplication w/Decimals Name. Answer Key
Usethe decimal placement to estimate the product. Answers
1) 53x0.548=
A. 29.0440 B. 0.2904 C. 2.9044 . 290.4400 1 L
2. C
2) 9.67x0391=
A. 378.09700 B. 0.37810 C. 3.78097 .0.03781 3 D
3) 6.436x 7.95= 4. B
A. 051166 B. 5.11662 C. 511.66200 . 51.16620
5, B
4) 513x9.7= D
A. 497.610 B. 49.761 C.0.498 .4.976 6.
7 C
5) 8.3x0.516 =
A. 0.0428 B. 4.2828 C. 0.4283 . 42.8280 8. C
6) 657x7.4= 9. A
A. 4.862 B. 486.180 C. 0.486 . 48.618
10. D
7) 1.8x045=
n. C
A. 0.008 B. 8.100 C.0.810 .0.081
12. B
8) 8726x12=
A. 1,047.1200 B. 0.1047 C. 10.4712 . 104.7120
9) 0.546 x 3.6 =
A. 1.9656 B. 0.1966 C. 0.0197 . 19.6560
10) 2.946x 9.5=
A. 279.8700 B. 2,798.7000 C.0.2799 . 27.9870
11) 2.461x0.79 =
A. 19.44190 B. 0.01944 C. 1.94419 . 194.41900
12) 1.4x991=
A. 1,387.400 B. 13.874 C. 138.740 .0.139
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